	Problemset
Title
	Practice Test

	Introductory
Text
	The following questions will help you assess your learning of the concepts in this chapter.

	


	Question 1
Type: 
Multiple Choice
	Which of the following is not one of the advantages of media consolidation?

Hint:

 
Feedback for all
incorrect answers:

See page 3
Answer

Graded As

Feedback

Cost cutting by sharing resources
Incorrect
 
Increased revenues by providing multiple services
Incorrect
 
Weaker competitive position by combining services
Correct
 
Stronger competitive position by providing multiple services
Incorrect
 


	


	Question 2
Type: 
Multiple Choice
	What is the name of the process where viewers record their favorite programs and view them later?

Hint:

 
Feedback for all
incorrect answers:

See page 5
Answer

Graded As

Feedback

Time shifting
Correct
 
Simple shifting
Incorrect
 
Television zapping
Incorrect
 
Late viewing
Incorrect
 


	


	Question 3
Type: 
Multiple Choice
	One difference between broadcast television and cable television is that broadcast television

Hint:

 
Feedback for all
incorrect answers:

See page 8
Answer

Graded As

Feedback

uses radio waves through space.
Correct
 
sends out sound and pictures.
Incorrect
Broadcast and cable both deliver sounds and pictures
depends on advertising revenues.
Incorrect
Broadcast stations and some cable channels depend on advertising revenues.
charges a subscription fee.
Incorrect
Broadcasting stations do not charge viewers a subscription fee.


	


	Question 4
Type: 
Multiple Choice
	The legal definition of broadcasting is "to send out sound and pictures by means of radio waves through space for reception by __________."

Hint:

 
Feedback for all
incorrect answers:

See page 7
Answer

Graded As

Feedback

the general public
Correct
 
paying subscribers
Incorrect
 
a broadcast station
Incorrect
 
interested viewers
Incorrect
 


	


	Question 5
Type: 
Multiple Choice
	Radio's primary appeal has long been

Hint:

 
Feedback for all
incorrect answers:

See page 9
Answer

Graded As

Feedback

music.
Correct
 
interactivity.
Incorrect
 
time shifting.
Incorrect
 
commercials.
Incorrect
 


	


	Question 6
Type: 
Multiple Choice
	Diverse programming and video-on-demand are two appeals of

Hint:

 
Feedback for all
incorrect answers:

See page 9
Answer

Graded As

Feedback

cable.
Correct
 
broadcast television.
Incorrect
 
newspapers.
Incorrect
 
radio.
Incorrect
 


	


	Question 7
Type: 
Multiple Choice
	Most American households receive their television programming through

Hint:

 
Feedback for all
incorrect answers:

See page 9
Answer

Graded As

Feedback

cable systems.
Correct
 
off-the-air broadcasts.
Incorrect
 
direct broadcast satellites.
Incorrect
 
digital video disks.
Incorrect
 


	


	Question 8
Type: 
Multiple Choice
	One limitation of direct-to-home satellite service is

Hint:

 
Feedback for all
incorrect answers:

See page 9
Answer

Graded As

Feedback

the cost of providing subscribers with high-speed two-way internet access.
Correct
 
delivering good picture quality.
Incorrect
 
providing diverse programming options.
Incorrect
 
providing programs in areas not served by cable.
Incorrect
 


	


	Question 9
Type: 
Multiple Choice
	To offset declining print circulation, newspapers are making their content available to readers

Hint:

 
Feedback for all
incorrect answers:

See page 10
Answer

Graded As

Feedback

online.
Correct
 
through satellite.
Incorrect
 
through video disks.
Incorrect
 
through teletext.
Incorrect
 


	


	Question 10
Type: 
Multiple Choice
	Which companies can share the characteristics of both common carriers and electronic mass media?

Hint:

 
Feedback for all
incorrect answers:

See page 11
Answer

Graded As

Feedback

Telephone
Correct
 
Broadcast
Incorrect
 
Satellite
Incorrect
 
Newspaper
Incorrect
 


	


	Question 11
Type: 
Multiple Choice
	A company that does not assume responsibility for what is transmitted on the communication facilities it provides is known as a __________ carrier.

Hint:

 
Feedback for all
incorrect answers:

See page 10
Answer

Graded As

Feedback

common
Correct
 
universal
Incorrect
 
local
Incorrect
 
free
Incorrect
 


	


	Question 12
Type: 
Multiple Choice
	Using unidirectional technologies to present content can limit audience

Hint:

 
Feedback for all
incorrect answers:

See page 3
Answer

Graded As

Feedback

interactivity.
Correct
 
convergence.
Incorrect
 
satisfaction.
Incorrect
 
integration.
Incorrect
 


	


	Question 13
Type: 
Multiple Choice
	A cable system providing subscribers with programs from both broadcast stations and cable networks is an example of __________ convergence.

Hint:

 
Feedback for all
incorrect answers:

See page 2
Answer

Graded As

Feedback

content
Correct
 
technological
Incorrect
 
service
Incorrect
 
interactive
Incorrect
 


	


	Question 14
Type: 
Multiple Choice
	Two ways media companies can strengthen their business operations are consolidation and

Hint:

 
Feedback for all
incorrect answers:

See page 3
Answer

Graded As

Feedback

diversification.
Correct
 
competition.
Incorrect
 
interactivity.
Incorrect
 
commerce.
Incorrect
 


	


	Question 15
Type: 
Multiple Choice
	All the following are reasons for government policy to reduce media ownership restrictions except
Hint:

 
Feedback for all
incorrect answers:

See page 5
Answer

Graded As

Feedback

smaller stations can survive by merging with larger ones.
Incorrect
 
control of programming by a few companies.
Correct
 
increase in the diversity of media choices.
Incorrect
 
the development of new technology.
Incorrect
 


	



